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Correct Option selected Wrong Option selected Correct Option Not Answered
 

Section - I (English)

Q.No: 1 Choose the correct word for "A person who cultivate and grow plants".

Environmentalist

Florist

Botanist

Gardener

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph:

Renewable Energy

Renewable energy sources, such as solar and wind power, play a crucial role in addressing environmental
concerns and reducing reliance on non-renewable resources. Solar energy harnesses the power of the sun
through solar panels, while wind energy uses turbines to convert wind motion into electricity. Unlike fossil
fuels, renewable energy is sustainable and has minimal environmental impact. Governments worldwide are
increasingly investing in the development and implementation of renewable energy technologies to create a
greener and more sustainable future.

What is the focus of the paragraph?

Fossil fuels

Environmental concerns

Solar energy

Hydroelectric power

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph:

Renewable Energy

Renewable energy sources, such as solar and wind power, play a crucial role in addressing environmental
concerns and reducing reliance on non-renewable resources. Solar energy harnesses the power of the sun
through solar panels, while wind energy uses turbines to convert wind motion into electricity. Unlike fossil
fuels, renewable energy is sustainable and has minimal environmental impact. Governments worldwide are
increasingly investing in the development and implementation of renewable energy technologies to create a
greener and more sustainable future.

How does wind energy generate electricity?

Through nuclear reactions

Using solar panels

Via wind turbines

By burning fossil fuels

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph:

Renewable Energy

Renewable energy sources, such as solar and wind power, play a crucial role in addressing environmental
concerns and reducing reliance on non-renewable resources. Solar energy harnesses the power of the sun
through solar panels, while wind energy uses turbines to convert wind motion into electricity. Unlike fossil
fuels, renewable energy is sustainable and has minimal environmental impact. Governments worldwide are
increasingly investing in the development and implementation of renewable energy technologies to create a
greener and more sustainable future.

Why are governments worldwide investing in renewable energy technologies?

To deplete non-renewable resources

To increase reliance on fossil fuels

To minimize environmental concerns

To create a greener and more sustainable future

Q.No: 5 Choose the word that means "to recover from illness or adversity":

Relinquish

Succumb

Surrender

Recuperate

Not Answered

Q.No: 6 In the following question, a sentence has been given in Active voice. Out of the four alternatives suggested,
select the one which best expresses the same sentence in Passive voice.

The doctor has given me a very painful injection.

The doctor gives myself a very painful injection.

A very painful injection has been given to me by the doctor.

A very painful injection is being given by me to the doctor.

Giving of a painful injection to me has been done by the doctor.

Q.No: 7 What is the antonym of 'Vicious'?

Grim

Violent

Brute

Noble

Not Answered

Q.No: 8 Choose the correct option:
Dog is_____ most loyal animal.

a

an

the

No Article Required

Q.No: 9 What does the word "vivid" mean?

Muted

Pale

Colourful

Dull

Not Answered

Q.No: 10 Which punctuation mark is used to enclose titles of books, songs, or movies?

Quotation mark

Exclamation mark

Semicolon

Parentheses

Q.No: 11 Fill in the blank with the correctly spelled word:
The storm caused widespread ___________ in the coastal region.

destruksion

destructtion

destrucktion

destruction

Q.No: 12 Choose the correct option that completes the sentence logically and grammatically:
She is _____ beautiful that everyone admires her.

so

such

to

more

Q.No: 13 Fill in the blank with the most appropriate punctuation mark.
There are two choices at this time_____ run away or fight.

Colon

Period

Question mark

Apostrophe

Q.No: 14 Choose the correct part of speech for the underlined word in each sentence.
The patient exhibited unusual symptoms, puzzling the doctors.

Adjective

Verb

Adverb

Noun

Q.No: 15 Choose the correct option that completes the sentence logically and grammatically:
The music was so loud that I couldn't hear _____.

me think

myself

I think

myself think

Q.No: 16 Choose the correct part of speech for the underlined word in each sentence.
The cat jumped over the fence.

Adjective

Noun

Verb

Adverb

Q.No: 17 What does the idiom "up in the air" mean?

Flying in the sky

Climbing a mountain

Sailing in the air

Uncertain or undecided

Not Answered

Q.No: 18 What is the Synonym for "Benevolent"?

Hostile

Cruel

Kind

Malevolent

Not Answered

Q.No: 19 Choose the correct question tag from the four options given, which completes the sentence logically and
grammatically:
Let's watch a movie tonight, ____?

shall we

won't we

had we

haven't we

Q.No: 20 Arrange the following jumbled sentence into a coherent order:

A. Bought
B. Market
C. She
D. Groceries
E. The
F. From
G. The

E-D-F-G-B-A-C

F-G-B-E-D-A-C

C-A-E-D-F-G-B

E-B-A-G-B-C-D

Q.No: 21 What is the singular form of "syllabi"?

syllabuses

syllabais

syllabees

syllabus

Q.No: 22 Which sentence is in the past perfect continuous tense?

We will dance tomorrow.

He finished the project.

They had been waiting for hours.

She danced at the party.

Q.No: 23 Choose the correct part of speech for the underlined word in each sentence.
Did she find the book she was looking for?

Noun

Verb

Adjective

Pronoun

Q.No: 24 What is the past tense of the verb "run"?

ran

runned

run

running

Q.No: 25 Choose the option that best represents the antonym of the underlined word in the sentence.
The author's ambiguous ending left the readers in suspense.

explicit

confusing

predictable

vague

Not Answered

Section - II (Odia)

Q.No: 26

Q.No: 27

Q.No: 28

Q.No: 29

Q.No: 30

Q.No: 31

Q.No: 32

Q.No: 33

Q.No: 34

Q.No: 35

Q.No: 36

Q.No: 37

Q.No: 38

Q.No: 39

Q.No: 40

Q.No: 41

Q.No: 42

Q.No: 43

Q.No: 44

Q.No: 45

Q.No: 46

Q.No: 47

Q.No: 48

Q.No: 49

Q.No: 50

Section - III (Arithmetic)

Q.No: 51 A ratio equivalent to 3:5 is ___.

Q.No: 52 The average of 40
numbers is 20. If
two numbers 37
and 63 are
discarded, find the
average of the
remaining
numbers.
(Approximate)

Not Answered

Q.No: 53 What is the Least Common Multiple (LCM) of 8
and 10?

72 72

120 120

80 80

40 40

Q.No: 54 Simplify:

Q.No: 55 A does 80% of a work in 20
days. He then calls in B and
they together finish the
remaining work in 3 days.
How long B alone would take
to do the whole work?

39.5 days

36 days

37.5 days

23 days

Not Answered

Q.No: 56 The
average
of three
numbers
is 75. If
the first
two
numbers
are 100
and 125,
what is
the third
number?

75 75

112.5 112.5

0 0

225 225

Q.No: 57 Which of the following
numbers is NOT a
factor of the HCF of 24
and 144?

12 12

4 4

6 6

16 16

Q.No: 58 What percent of 135 is 15?

Q.No: 59
If you roll a fair six-sided dice, what is the
probability of rolling a number less than 2?

1 1

2/3 2/3

1/3 1/3

1/6 1/6

Not Answered

Q.No: 60 The total age of
Anvit and Ronit is
12 years more
than the total age
of Ronit and Abhi.
Abhi is how many
years younger than
Anvit ?

12 years

15 years

10 years
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13 years

Not Answered

Q.No: 61 A bike was sold at a loss of
Rs.15000 for which the
cost price was Rs.125000.
What was the loss
percentage?

Q.No: 62 Which of these ratios is NOT equivalent to 2:3?

Q.No: 63 Simplify:

8 8

0 0

5 5

6 6

Q.No: 64 A bus depreciates in value at a rate of
10% per year. If the initial value of
the bus is Rs. 6,00,000. what will be
its value after 2 years?

Rs. 4,86,000 Rs. 4,86,000

Rs. 5,40,000 Rs. 5,40,000

Rs. 72,000 Rs. 72,000

Rs. 6,12,060 Rs. 6,12,060

Q.No: 65 Last year the price of a mobile
phone was Rs.18,000. It has
increased by 18% this year.
What is the price of the mobile
phone now?

Rs.19,800 Rs.19,800

Rs.22,600 Rs.22,600

Rs.21,240 Rs.21,240

Rs.20,360 Rs.20,360

Q.No: 66 If the current age is x, then age n
years ago is ______.

x+n x+n

x-n x-n

xn xn

ax+bx ax+bx

Q.No: 67 If 15 workers can build a
house in 30 days, how many
days will it take for 25
workers to build the same
house?

5 days

26 days

18 days

19 days

Q.No: 68 If you pick a letter at random from the
word "COMPUTER", what is the
probability that it is 'S'?

1/4 1/4

0 0

1 1

1/8 1/8

Q.No: 69 A car travels at a speed of
100 km/h for the first half
of its journey. It then
travels at a speed of 60
km/h for the second half
of its journey. What is the
average speed of the car
for the entire journey?

160km/hr 160km/hr

20km/hr 20km/hr

50km/hr 50km/hr

75km/hr 75km/hr

Q.No: 70 100 apples were bought
at the rate of Rs.500.
Each apple weighed 200
gms. They were sold at
the rate of 50 per kg. Find
the profit or loss
percentage.

100% Profit

80% Loss

75% Loss

120% Profit

Q.No: 71 Simplify:

Q.No: 72 If an item is bought
for Rs.120 and sold
for Rs.140, what is
the profit percentage?
(Approximate)

Q.No: 73 Rahul invests Rs.1500 for x years at
9% simple interest per annum and
earns Rs.270 as interest. Find the
value of x.

1 year

2 years

3 years

4 years

Not Answered

Q.No: 74 Simplify:

Q.No: 75 How many hours will it take
for a cyclist to cover 50 kms
at a speed of 25km/h?

1.5 Hours 1.5 

3 Hours 3 

2 Hours 2 

0.5 Hours 0.5 

Section - IV (General Knowledge)

Q.No: 76 Under which mission in India were the COVID
vaccines being developed?

Mission COVID Prahar

Mission COVID Strike

Mission COVID Sanhar

Mission COVID Suraksha

Q.No: 77 Who is empowered to declare a
National Emergency?

Chief Justice of India

Prime Minister of India

President of India

Minister of Home Affairs

Q.No: 78 In which year
did the
Indian
National
Congress,
start the
Non-
cooperation
movement,
under the
leadership of
Mahatma
Gandhi?

Q.No: 79 The International Cricket Council (ICC)
Headquarters is located in which
country?

Dubai

Australia

India

England

Q.No: 80 What is the official language of Manipur?

Kokborok

Meitei

Hindi

Naga

Not Answered

Q.No: 81 Which of the following acts was
passed by the Parliament of
India to reconstitute the state
of Jammu and Kashmir into
two union territories?

Jammu and Kashmir Reorganization Act,
2019

Roshni Act of Jammu and Kashmir 2020

Jammu and Kashmir State Land Act,
2001

Jammu Kashmir Reservation Act, 2004

Q.No: 82
The medieval empire of Aztecs now come
under which of the following countries?

Uruguay

Panama

Mexico

Canada

Not Answered

Q.No: 83 Which is the world's 3rd highest peak which also
happens to be in Asia?

Kanchenjunga

Kamet

Nanda Devi

Mount Everest

Q.No: 84 How many players are on the field in
each team while playing Field
Hockey?

Not Answered

Q.No: 85 Which one of these is NOT an official language of
the United Nations?

Spanish

Sanskrit

English

Chinese

Q.No: 86 In which of the following states 'Madhubani' Folk
painting is famous?

West Bengal

Chhattisgarh

Bihar

Odisha

Q.No: 87 The Department of Space reports to which
minister as of February 2024?

The Prime Minister

The Defense Minister

The Home Minister

The Minister of Electronics and Information
Technology

Not Answered

Q.No: 88 Established in 1936, ___________ is
India's first National Park.

Gir National Park

Indravati National Park

Bandhavgarh National Park

Jim Corbett National Park

Not Answered

Q.No: 89 When was the Gandhi Irwin pact signed?

5 March 1935

5 March 1930

5 March 1937

5 March 1931

Q.No: 90 Pranab Mukherjee was awarded the Bharat
Ratna in the year______.

Q.No: 91 Article 110 of Indian Constitution deals
with:

Power of president

Money bill

Definition of budget

Rajyasabha members

Q.No: 92 The Atomic Research institute at Mumbai is
called ________.

Bhabha Atomic Research Center

Sarabhai Research Center

Raman Institute of Atomic Research

Sethna Atomic Research Center

Not Answered

Q.No: 93 The Headquarters of OPEC is located in which
country?

Saudi Arabia

Austria

Dubai

UK UK

Not Answered

Q.No: 94 What is the full form of P.M as in 2PM?

Post Meridiem

Past Midnight

Post Midnight

Post Man-hours

Q.No: 95 Who amongst the following was the founder of
the Mauryan empire?

Bimbisar

Chandragupta Maurya

Ashoka

Bindusar

Q.No: 96 The book titled "One Indian Girl" was
written by whom?

Prem chand

Sudha murthy

Shashi taroor

Chetan bhagath

Not Answered

Q.No: 97 Who was the first Indian to travel to outer space?

Sunitha Williams

Anil Kumar Das

Rakesh Sharma

Kalpana Chawla

Q.No: 98 Balasore was captured by which of the General of
British?

Carnwalis

Captain Morgan

Warren hasting

Wellesly

Q.No: 99 Name the first place where the revolt of 1857
took place?

Mhow

Banaras

Azamgarh

Meerut

Q.No: 100 The G-7 nations consist of
_________________.

France, Germany, India, Japan, United States, UK
and Canada.

Canada, France, Germany, Japan, USA, UK and
Netherlands

Germany France, Japan, Italy, USA, UK and
Cambodia.

France, Germany, Italy, Japan, USA, UK and
Canada.

Section - V (Computer Knowledge)

Q.No: 101 Height to width ratio of a monitor
screen is called _______.

Length ratio

Aspect ratio

Width ratio

Angular ratio

Q.No: 102 What is the main purpose of computer
networking?

Sharing information between computers

Connecting computers with wires

Turning off computers remotely

Cleaning computers' files

Q.No: 103
______ appearing on a Web page opens another
document when clicked.

Programs

Hyperlink

Heading

Reference

Q.No: 104 Which of the following protocols is
used to receive email?

HTTP HTTP

POP3 POP3

FTP FTP

STP STP

Not Answered

Q.No: 105 In the context of operating systems, what
is the goal of a cyber security audit?

Identifying and addressing security vulnerabilities

Allocating CPU time

Creating copies of important files

Enhancing internet speed

Not Answered

Q.No: 106 A _______ attaches itself
to executable files and
replicates, when the
infected program is
executed, by finding other
executable files to infect.

Polymorphic

Stealth

Parasitic

Macro

Not Answered

Q.No: 107 What is the full form of POP?

Program Operating Protocol

Pre Office Protocol

Post Offering Protocol

Post Office Protocol

Q.No: 108 Statements:

1.When you add recipients to the
BCC field in email, recipients receive
email but their address will not be
visible to any of the other
recipients.

2.The "To" field is reserved for the
main recipients of your email.

Determine whether the above given
statements are true or false:

True, False

False, False

False, True

True, True

Not Answered

Q.No: 109 Which shortcut key is used to
move to the next sheet in a
workbook?

Ctrl + End

Ctrl + Home

Ctrl+ Page Up

Ctrl +Page Down

Not Answered

Q.No: 110 Magnetic disks are the most popular medium for
:

Input access

Input unit

Direct access

Laser printer

Not Answered

Q.No: 111 What does a backup serve as in terms of
computer security?

Making duplicates of crucial files

Preventing access to the internet

Boosting system performance

Installing extra software

Not Answered

Q.No: 112 Computer cannot work without ______.

Operating system

Word

Power point

Excel

Q.No: 113 A browser is a ______.

software program to delete a folder

software program to view Web pages on
the Internet

tool for creating a database

printing device

Q.No: 114 First generation computers were
using _______ level language
programming.

High

Medium

Assembly

Low

Not Answered

Q.No: 115 Which of the following is NOT an
Operating system for mobile?

Mac OS

Bada

Harmony OS

iOS iOS

Not Answered

Q.No: 116 Among the below options, which
is NOT an I/O handling scheduling
algorithm?

SSTL [Shortest Seek Time Last]

FCFS [First come first server]

C-LOOK

SSF [Shortest Seek First]

Not Answered

Q.No: 117 What is the shortcut key to insert page breaks in
MS word?

Shift + enter

Ctrl + enter

Tab + enter

Alt + enter

Q.No: 118 What is the full form of VoIP?

Voice on Internal Protocol

Voice on Interface Protocol

Voice of Internet Protocol



Voice of Internet Protocol

Voice over Internet Protocol

Q.No: 119 The coded message or the encrypted
data is called _______.

Cipher

Cipher text

Plain text

Text

Not Answered

Q.No: 120 Which key is used to delete
one character to the left in
Microsoft word?

Delete

Backspace

Tab

Home

Q.No: 121 A collection of unprocessed items is called:

Information

Reports

Memory

Data

Q.No: 122 Collecting the data and converting it into
information is called:

Compiling

Processing

Importing

Exporting

Q.No: 123 The physical arrangement of elements on
a page is referred to as a document's
_______.

Features

Format

Pagination

Grid

Not Answered

Q.No: 124
Which device connects two or more packet-
switched networks or sub-networks?

Monitor

Router

Keyboar

Printer

Not Answered

Q.No: 125
Which one denotes the range from B1 through E5?

E5:B1 E5:B1

B1?E5 B1?E5

B1,E5 B1,E5

B1:E5 B1:E5

Not Answered

Section - VI (General Science)

Q.No: 126 The magnetic field around _______ forms
concentric circles.

straight non current-carrying insulator

straight plywood

straight iron rod

straight current-carrying conductor

Not Answered

Q.No: 127 Most of the solar cells are made of

Silicon

Iron

Magnesium

Radium

Q.No: 128 Why does the heart have separate
chambers?

To promote the mixing of oxygen-rich and
carbon dioxide-rich blood

To regulate blood pressure

To prevent mixing of oxygen-rich and
carbon dioxide-rich blood

To control the heartbeat

Q.No: 129 What property distinguishes metals from non-
metals in terms of appearance?

Conductivity

Reactivity

Luster

Malleability

Not Answered

Q.No: 130 As per the five kingdom system of
biological classification, What are
sac-fungi commonly known as?

Deuteromycetes

Phycomycetes

Basidiomycetes

Ascomycetes

Not Answered

Q.No: 131 The SI unit of power is ______

Volt

Electricity

Watt

Pascal

Q.No: 132 In E-coli bacteria, 'E' represents

Emulsifier

Enlarge

Eicher

Escherichia

Not Answered

Q.No: 133 Examples of the phylum Echinodermata are
_______

Apis

Earthworm

Anopheles

Asterias

Not Answered

Q.No: 134 In the human body where does the urine
production take place?

Liver

Lungs

Kidneys

Stomach

Q.No: 135
Which among the following is NOT a noble gas?

Argon

Xenon

Chlorine

Radon

Not Answered

Q.No: 136 In C4 plants, which adaptation
allows them to thrive in low CO2
environments?

Ability to fix atmospheric nitrogen directly

Spatial separation of CO2 fixation and Calvin
cycle

Increased chlorophyll content for better light
absorption

Enhanced water splitting for efficient ATP
production

Not Answered

Q.No: 137
At what pH level does tooth decay typically start?

Above 7.0

Below 4.0

Above 8.0

Below 5.5

Q.No: 138 Which of the following is a base that
dissolves in water and produces
hydroxide ions?

Not Answered

Q.No: 139 Which of the following is a primary source of
air pollution in urban areas?

Forest fires

Industrial emissions

Oceanic evaporation

Volcanic eruptions

Q.No: 140 Which of the following
chromosomal abnormalities
involves the presence of an
extra chromosome 21?

Turner syndrome

Kesler syndrome

Klinefelter syndrome

Down syndrome

Not Answered

Q.No: 141 How does the nervous system primarily transmit
messages within the body?

Via hormonal secretion

Through chemical signals

Via electrical impulses

By mechanical vibrations

Q.No: 142 ________ is derived from
organic materials, which grow
through the process of
photosynthesis - a solar-driven
process where plants convert
sunlight into chemical energy.

Nuclear Energy

Bio-Mass energy

Geothermal heat/energy

Wind energy

Q.No: 143 Transpiration is a process of ________

animals making their food

animals hunting for their living

plants making their food

plants getting rid of excess water

Not Answered

Q.No: 144
Which of the following statement is true?

Temperate zone is affected most by the ozone layer
depletion

North Pole is affected most by the ozone layer depletion

South Pole is affected most by the ozone layer depletion

Tropics is affected most by the ozone layer depletion

Not Answered

Q.No: 145 Which one of the following shows the
correct relationship in terms of reactivity?

Not Answered

Q.No: 146 Which law states that under
similar conditions of
temperature and pressure,
equal volumes of different
gases contain an equal number
of molecules?

Boyle's Law

Avogadro's law

Gay-Lussac's Law

Charles' Law

Not Answered

Q.No: 147 1 ohm = ________

1 joule / 1 ampere

1 volt / 1 pascal

1 volt / 1 ampere

1 ampere / 1 watt

Not Answered

Q.No: 148
Bromine is a ________ at room temperature.

Solid

Liquid

Metal

Non metal

Q.No: 149 What happens to the speed of
light when it enters a medium
with a higher refractive
index?

Increases

Remains the same

Becomes infinity

Decreases

Not Answered

Q.No: 150 Which of the following is a
method of asexual reproduction
where an organism splits into
two or more parts, each of
which grows into a complete
individual?

Spore formation

Sexual reproduction

Binary fusion

Fragmentation


